ITCS 3166 Exam I  -  Preparing
1. In the 21st century as a result of rapid technological progress:
A we have great mechanical systems

B we have installed worldwide telephone networks
C telephone networks, radio and television, and the computer industry are quickly converging

D collecting, transporting, storing, and processing information have become distinct and separate tasks

2. Computer networks, like the printing press 500 years ago, allow ordinary citizens to distribute and view content in ways that were not previously possible. What kind of social issues does this new-found freedom bring?
i network operators may treat different customers differently – big well paying companies get good service, small-time players get poor service
ii peer-to-peer networks being sued for conducing to phishing messages
iii government versus citizen’s rights and FBI snooping on emails at Internet Service Providers

iv the private sector profiling users by tracking their cyberspace activities and maintaining large amounts of personal information
A i and ii

B i and iii

C i , iii , and iv

D all of the above
3. Which of the following statements is incorrect in relation to network software:
A to reduce design complexity most networks are organized as a stack of layers or levels, each one built upon the one below it.
B each layer, below the application (layer 5), puts a header in front of the message. The header includes control information.
C a protocol is another name for a connection with associated resources, such as a fixed bandwidth. 
D a connectionless service is used for example with electronic junk mail and a database query
4. With the Open Systems Interconnection (OSI) reference model:
A the session and presentation layers are not present in the model
B the data link layer determines how packets are routed from source to destination

C the application layer splits the data into smaller units if need be, and ensures the pieces arrive correctly

D the function of each layer should be chosen with an eye toward defining internationally standardized protocols
5. The subject of computer networking covers many kinds of networks, large and small, well known and less well known. Which of the following are examples of computer networks:
i Global System for Mobile communications

ii Cable Modem Termination System

iii Wireless LANs: 802.11

iv Radio Frequency IDentification and Sensor Networks

A i, iii, and iv

B ii, iii, and iv

C i and iv

D ii and iii

6. Which of the following statements is incorrect in relation to metric units:
A 103 = 1,000 is denoted with the prefix Kilo

B 109 = 1,000,000,000 is denoted with prefix Tera

C a 1-MB memory contains 220 (1,048,576) bytes

D a 1-GB memory contains 230 (1,073,741,824) bytes

7. With data communication in the physical layer, Fourier analysis is used to:
A decompose a signal into its frequency components, also called harmonics

B make magnetic media work more efficiently

C amplify a signal after it travels long distances

D shift a signal into occupying a higher range of frequencies

8. Which of the following are examples of guided transmission media:
i twisted pair cable of category 5 (cat5)

ii a multimode fiber optic cable
iii frequency hopping spread spectrum

iv free-space optics
A i and ii

B i and iii

C i, ii and iv
D ii, iii, and iv
9. Communication satellites have properties that make them attractive for many applications. Which of the statements below is incorrect in relation to satellites?
A a satellite is like a big microwave repeater in the sky, it amplifies the incoming signal, and then rebroadcasts it in another frequency to avoid interference with the incoming signal
B geostationary satellites move with about the same speed as the earth rotates, so they appear motionless in the sky
C if we use low earth orbit satellites (LEO) we would need about 10 of them to achieve global coverage
D a satellite placed between 15,000 and 20,000 km above earth would be destroyed by cosmic particles
10. Wires and wireless channels carry analog signals such as continuously varying voltage, light intensity, or sound intensity. How do we send digital information?
A we must devise analog signals to represent bits. we use a process of converting between bits and signals called digital modulation
B by using more than two signaling levels
C by using the NRZI (non-return-to-zero inverted) coding

D by balancing the signals so they have as much positive voltage as negative voltage
11. The “last mile” of the telephone system is the two-wire local loop coming from a telephone company end office into houses. It has carried analog information for over 100 years and is likely to continue doing so for some years to come, due to the high cost of converting to digital. What methods are used for Internet connection over the local loop?
i to send bits over the local loop, they must be converted to analog signals that can be transmitted over the channel. A device that makes this conversion is called a modem (“modulator demodulator”)
ii the cable TV is offering speeds up to 10Mbps on shared cables, making it possible to offer another digital service over the local loop, called digital subscriber line (DSL)
iii telephone companies can upgrade the local loop from copper to fiber, to provide faster and better network service, called Fiber To The Home (FttH)
A i and ii
B i and iii

C ii and iii

D all of the above

12. Which of the following statements is incorrect in relation to the mobile telephone system?
A in all mobile phone systems, a geographic region is divided up into cells, which is why the devices are sometimes called cell phones
B mobile phones have always transmitted digital voice
C the third generation of mobile phones, or 3G as it is called, is about digital voice and data
D wireless networks with 4G levels of performance are already available, such as WiMAX
